Multiplicacion por Celosia (B)

Use la multiplicacion por celosia para hallar cada producto.

2 5 7 8 7 2 3 1 6 7
7 4
6 1
6 0
7 1
25787 x 71667 = 23167 x 4101 =
1 3 0 6 1 6 7 9 0 3
3 5
4 1
2 8
3 2
13061 x 3423 = 67903 x 5182 =
4 4 7 4 3 3.0 3 4 4
6 5
1 2
7 5
7 4
44743 x 6177 = 30344 x 5254 =
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Multiplicacion por Celosia (B) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

2 5 7 8 7 2 3 1 6 7
1 3 4 5 4 7 0 1 0 2 2 4
1 4 5 9 6 9 0 8 2 4 4 8
L3 A5 8 A4 6 0 /10 10 710 10 7 4
9 2 0 2 8 2 9 2 3 1 6 7
U3 8 5 4 7 0 /10 710 710 710 7
7 2 0 2 8 2 5 0 0 0 0 0
L3 A4 5 A4 4 0 10 10 10 10 /] 4
7 4 5 9 6 9 0 2 3 1 6 7
0 8 9 2 9 0 7 8 6 7
25787 x 7667 = 197,708,929 23167 x 4101 = 95,007,867
1 3 0 6 1 6 7 9 0 3
0 0 0 1 0 3 3 3 4 0 1 5
0 3 9 0 8 3 3 0 5 5 0 5
0 1 0 2 0 4 0 0 0 0 0 1
4 4 2 0 4 4 5 6 7 9 0 3
0 0 0 1 0 2 4 5 7 0 2 8
4 2 6 0 2 2 1 8 6 2 0 4
0 0 0 1 0 3 1 1 1 0 0 )
7 3 9 0 8 3 8 2 4 8 0 6
0 7 8 0 3 7 3 3 4 6
13061 x 3423 = 44,707,803 67903 x 5182 = 351,873,346
4 4 7 ) 3 3 0 3 4 4
2 2 4 2 1 6 1 0 1 2 2 5
2 4 4 2 4 8 1 5 0 5 0 0
0 0 0 0 0 1 0 0 0 0 0 )
7 4 4 7 4 3 5 6 0 6 8 8
2 2 4 2 2 7 1 0 1 2 2 5
6 8 8 9 8 1 9 5 0 5 0 0
2 2 4 2 2 7 1 0 1 1 1 4
3 8 8 9 8 1 4 2 0 2 6 6
7 7 5 1 1 2 7 3 7 6
44743 x 6177 = 276,377,511 30344 x 5254 = 159,427,376
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